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First Year (T.D.C.) Science Examination, 2018

STATISTICS
(Computational Techniques & Official Statistics)
Paper-I11

Time Allowed : Three Hours
Maximum Marks - 50

PART-A(@UE‘—?:T) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks,
Tt g W%lmmmwmﬁém?an
Tt ¥ F oie e ¥

PART -B (@us-7) [Marks : 25
Answer five questions (250 words each).
Selecting one from each unit. AJ] questions carry equal marks.
mmﬁm-@mw&wwﬁmﬁmn
T ¥ 1 I 250 I AP 7 8
4t ¥ % i guE ¥

PART-C(EUE-‘H) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks,
I & T Ff e S T I 300 I F St 1 2
Tt W F o g ¥
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(b)

(e)

(d)

(e)
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PART - A
(TuUs-3)

Name the sj:atisticﬁl organisation which works under
the domain of government of Rajasthan.
LS TR ¥ e e 1o} WifeTeh! TS Hl
= fafed |
What is the full form of C.8.0. ?
C.S.0. 1 0 W F1 §?
What do you mean by the two-phase method of solving
Jinear programming problem ?
W-Wwaﬁmwﬁfg—wﬁﬂra
ST 1 T €7
Define surplus variables in linear programming

problems.

Y G awened § sl = B gftwfia it |
Write the relation between operators E and A.

aqmzéﬁamAﬁmﬁrﬁaﬁl
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(f)

(g)

(h)

(i)

(i)
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What is the value of- V2 f(x +2h) ?

V2 £ (x + 2h) 1 31 w1 27

State Newton's divided difference formula for
interpolation,

mé‘sm%mqa%ﬁwﬁa SR T 9 = Ffy
Are divided differences Symmetric functions of thejr
arguments ?

T IS ST 7 A i 22

Which formula of numerical integration is most
appropriate when the function is a parabolic type ?
WA AT ¥ fow i W 1Y% I 7 @
STSIfeh W 1 R Reyery Bk

For what value of n, Simpson's 3/8th rule comes from

general quadrature formyla,

n%mm%fﬁqﬁwmy&hﬁmmmﬂ
T | I BT 82
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PART - B
(Tus-9)
UNIT -1
(3TE-1)
2. Describe the functions and activities of N.S.S.0. :
¢ N.S.S.O.%mﬁ@nﬁﬁmﬁmaﬁqﬁm|

3. Describe the organisation and functions of directorate of

economic and statistics in Rajasthan.
mﬂﬁaﬂmqﬁwﬁ@ﬁmﬁmﬁmmw
wHife |

UNIT - 11

(gT3-11)

4. Explain the meaning of basic feasible solution and degenerate

solution in a linear programming problem.
g WA g § U A T A fows FHE
3 a7ef Y =TS HA |
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5. Explain the dual of an LPP by taking examples.

LPPﬁaasawimmﬁl

UNIT - 1

(ganTs-1I0)

6. State and prove Newton-Gregroy formula for forward

interpolation.
=eA- T S aﬁm#gﬁmﬁmm\

Prove thatis U, is 2 polynomial of n* degree in X, then :

AU = Constant ; =7
hd 0 cop>n

; mﬁmuﬁ@%ﬁmwmﬁi%m

- Constant ; r="n
NU;=

7.

0 STl

UNIT - IV

(3wE-1V)
8. Derive Lagrange's interpolation fo

émﬁsm%aawﬁmqaﬂaﬁmﬁm\

rmula.
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10.

11.

12,

1
If f(x)=;;x:a,b,c,d obtain divided difference of all

possible orders.

zrf%;f(x)=§;x=a,b,c,d SEAL L £ SN

aramm%%hgﬁm‘emﬁwﬁwm:

Write a short note on Weddle ryje.

TS P 0 e femoft S
PART - ¢
(Eus-)

Write short notes on the following :

@ cso ‘

(®)  Agriculture statistics

= W wfire froop fafed .

(31) cs.o.

() Ffy Gifemy
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13. Solve the following LPP by simplex method 2
Max. Z=3x, 45+ 5%,
Subjectto X, +X, T X5 <120
X, +2x,+ 3x, <150
X, t2%, = 90

weIfeh ¢ x1+x2+x3S120
x1+2x2+3x3s150
x‘+2x2s90
xl,x2,x320
. 14. Prove that :
fag Hfa ¢

o 2 X 3 2
O % +x, Au, + X, AUy ot Au, =u, + X, AUy

X X
G) WXtWX FUX F e P sy
x3
AU, + AU, +
(1-x)
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15. (a)  Find the polynomial of the lowest possible degree which
assumes the valueg X121 —21 when x has the values
3,414 respectively.
mea@amaﬁﬁqa‘rm; 1218551
TRV KT & TEfh x W 3,2,1,-1%)

(b) . Find the value of x when y = f(x) = 13.6 with the help
of the following table :
= 30 35 40 45 50
y: 159 149 141 133> 124
e wmoft ot e @ x o A H19 i s
x: 30 35 40 45 50

¥ 159 149 141 835 104

x2
1+ x

16. Find the value of log.2 from _E 7% using Simpson's %

rule, taking four equatl interval.

mem@ﬁwmmm@ £1:x3 dx
mmmﬁwmlo&zwmmaﬁ,
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